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3. A boxcar of length 8 m is at rest on horizontal frictionless rails. Inside the boxcar,

whose mass is 3200 kg, a massless tank containing 2400 kg of water is located at the left-

hand end. The tank is 1 m long. In this problem we worry only about the horizontal
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coordinate, and we ignore all effects of friction. ~A. (5 pts) The center of mass of this system is located ,tW) t-. .

(a) 9 m to the right of the left-hand end of the boxcar, and 1.2 m up from the floor..
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**(b) 2.5 m to the right of the left hand end of the boxcar. .,
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( c ) At the middle of the boxcar.

(d) 2.28 m to the right of the left hand end of the boxcar.
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the boxcar unifomlly. Assuming that all the water st~}ys .eo,ti1eboxcar (1:
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breakage of the tank manifests itselito an outside obsi ,,0 ~tci"l
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**(a) The boxcar moves to the left a little and comest

)r}(b) The boxcar moves to the left andsincc there are no outside [orc(;s~u-

continues to move to the left.

(c) There is no external clue as to what has happened
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( d) The boxcar moves to the right. A;Al
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